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Agriculture (Vocational)
 

le; % 3%00 ?k.Vs        iw.kkZad & 100 vad 
 
funsZ’k %& 1- iz’u Øekad 1 oLrqfu"B iz’u gSA blesa [k.M ^v* ,oa [k.M ^c* gS rFkk [k.M 

¼v½ esa 5 iz’u gS rFkk [k.M ¼c½ eas 5 iz’u gSA izR;sd iz’u ij 1 vad vkcafVr gSA 
Instruction:- Question No. 1 is an objective type question It has part (A) and part (B). Part (A) 

carries 5 Questions and Part (B) carries 5 question one mark in allotted to each 
question.  

2- iz’u Øekad 2 ls 7 rd vfry?kqmÙkjh; iz’u gSA izR;sd iz’u ij 2 vad 

vkcafVr gSA mÙkj dh vf/kdre lhek 30 'kCn gSA 

Question No. 2 to 7 are very short answer type question carries 2 marks. Maximum 

limit of answer is  30 words.  

3- iz’u Øekad 8 ls 11 rd vfry?kqmÙkjh; iz’u gSA izR;sd iz’u ij 3 vad 

vkcafVr gSA mÙkj dh vf/kdre lhek 50 'kCn gSA 

Question No. 8 to 11 are very short answer type question carries 3 marks. Maximum 

limit of answer is  50 words.  

4- iz’u Øekad 12 ls 17 rd y?kqmÙkjh; iz’u gSA izR;sd iz’u esa vkarfjd fodYi 

gSA izR;sd iz’u ij 4 vad vkcafVr gSA mÙkj dh vf/kdre lhek 100 'kCn gSA 

Question No. 12 to 17 are short answer type question. Each question has an internal 

choice. Each question carries 4 marks. Maximum limit of answer is 100 words. 

5- iz’u Øekad 18 ls 23 rd nh?kZmÙkjh; iz’u gSA izR;sd iz’u esa vkarfjd fodYi 

gSA izR;sd iz’u ij 5 vad vkcafVr gSA mÙkj dh vf/kdre lhek 150 'kCn gSA 

Question No. 18 to 23 are Long answer type question. Each question has on internal 

choice. Each question carries 5 marks. Maximum limit of answer is 150 words.  

6- iz’u Øekad 24 ls 25 rd nh?kZmÙkjh; iz’u gSA izR;sd iz’u esa vkarfjd fodYi 

gSA izR;sd iz’u ij 6 vad vkcafVr gSA mÙkj dh vf/kdre lhek 200 'kCn gSA 

Question No. 24 to 25 are Long answer type question. Each question has on internal 

choice. Each question carries 6 marks. Maximum limit of answer is 200 words.  

iz’u Øekad 1 %&  lgh fodYi pqudj fyf[k, %& 

       (Part –A) Choose the correct option and write the answer. 

¼i½ [kjirokj gS %& 

¼v½ vkS"k/kh; ikS/kk    ¼c½ vko’;d Qly 

¼l½ vokaNuh; ikS/kk    ¼n½ mijksDr lHkh 



(i) Weed is - 

            (a) Medicinal crop    (b) Important crop 

(c) Unwanted plant    (d) All of the above 

¼ii½ lqugjs ihys jax dk izek.k i= fn;k tkrk gS %& 

¼v½ iztud cht    ¼c½ vk/kkj cht 

¼l½ izekf.kr cht    ¼n½ U;wfDy;l cht 

            (ii) Golden yellow certificate is given - 

            (a) Breeder seed     (b) Foundation seed  

(c) Certified seed     (d) Nucleus seed  

¼iii½ vkbZ0 ih0 ,e0 ¼IPM½ dk iw.kZ :i gS &  

¼v½ bafM;u iksLV eSustesaV   ¼c½ bafM;u isLV eSustesaV 

¼l½ baVhxzsVsM isLV eSustesaV   ¼n½ baVhxzsVsM ikLpj ySaM eSustesaV 

 ¼iii½ Full form of IPM 

 ¼a½ Indian Post Management  ¼b½ Indian Pest Management 

 ¼c½ Integrated Pest Management  ¼d½ Integrated pasture Land Management 

¼iv½ ikS/kksa esa MsMgVZ ¼Dead Heart½ y{k.k dkSu ls dhV ds izHkko ds dkj.k curk gS & 

 ¼v½ LVhax cx    ¼c½ ruk Nsnd 

 ¼l½ Qyh Nsnd    ¼n½ fVM~Mk 

            (iv) Which Insect causes the effect of “Dead Heart” Symptoms in plants - 
            (a) Sting Bug      (b) Stem Borer 

(c) Fruit Borer     (d) Grass Hopper  

¼v½ flapkbZ ty ds lkFk moZjd nsuk dgykrk gS & 

 ¼v½ gchZxs’ku    ¼c½ eYVh bjhxs’ku 

 ¼l½ bjhxs’ku     ¼n½ QVhZxs’ku 

            (v) Fertilization with irrigation water is called - 

            (a) Habitation      (b) Multi Irrigation 

(c) Irrigation      (d) Fertigation 

[k.M ¼c½ %& fjDr LFkkuksa dh iwfrZ dhft, %& 

(Part – B)  Fill in the Blanks: 

¼i½ PVC ikWyh foukby ----------------- gSA 

           (i) PVC is poly venyle ………….. 

¼ii½ jkuh[ksr chekjh --------------------- esa gksrk gS 

           (ii) Ranikhet disease occurs in ………………….  

¼iii½ nqX/k izksVhu -------------------------- dgykrk gSA 



           (iii) Milk protein is called ………………………  

¼iv½ /kku dh dVkbZ ds le; nkus esa ---------------------- ueh dh izfr’kr gksuk pkfg;sA 

(iv) At the time of paddy harvesting ………….. the Percentage of moisture content.  

     will be. 

¼v½ dSfY’k;e dh deh ls i'kqvksa esa ------------------- jksx gksrk gSA 

           (v) Calcium deficiency in animals caused ………… diseases.   

iz’u Øekad 2 %& Qly dks ifjHkkf"kr dhft;sA        2 

Define crop. 

iz’u Øekad 3 %& cht D;k gS\        2 

What is seed. 

iz’u Øekad 4 %& vkbZ0 ih0 ,e0 dh ifjHkk"kk fyf[k;s\      2 

Write definition of IPM. 

iz’u Øekad 5 %& uLy D;k gS\          2 

What is Breed. 

iz’u Øekad 6 %& laØked jksx fdls dgrs gS\       2  

What is Infections Disesse. 

iz’u Øekad 7 %& tM+ iz.kkyh D;k gS\         2 

What is Root System. 

iz’u Øekad 8 %& Qly fofof/kdj.k D;k gS\       3  

What is crop Diversification. 

iz’u Øekad 9 %& izdk’k iziap ls dhVksa dks dSls fu;af=r fd;k tkrk gS\ le>kb;sA  2$1¾3 

How to control insects with the help of light traps? Describe it. 

iz’u Øekad 10 %& eqxhZ ¼dqDdqV½ vkokl dh eqDr iz.kkyh dks le>kbZ,\    3 

Explain free range system of poultry house. 

iz’u Øekad 11 %& gjh [kkn fdls dgrs gS\        3 

What is green Mannure. 

iz’u Øekad 12 %& nygu ,oa vukt okyh Qlykas ds chp dksbZ pkj varj fyf[k;s\  1x4¾4  

White any four Difference between pulses and cereals crop. 

vFkok 

,d o"khZ; ,oa cgqo"khZ; [kjirokj ds chp dksbZ pkj varj fyf[k;s\ 

     Write any four differences between annual and parellial weed. 

iz’u Øekad 13 %& cht mipkj ds dksbZ pkj ykHk le>kbZ,\     1x4¾4   

Explain any four Advantage of seed treatment. 

vFkok 



cht mipkj ds fdUgh pkj rjhdksa ds ckjs esa crkb;s\    

Describe any four the different methods of seed treatment. 

iz’u Øekad 14 %& Qly pØ D;k gS\ le>kb;sA      4  

What is crop rotation? explain it. 

vFkok 

Qly pØ ds fl)kar fyf[k,\ ¼dksbZ pkj½   

Write the Principles of crop rotation. 

iz’u Øekad 15 %& Vid flapkbZ vkSj QkSOokjk flapkbZ es varj fyf[k,\ ¼dksbZ pkj½   1x4¾4  

Difference between drip irrigation and sprinkler irrigation. (any four)  

vFkok 

lw{e flapkbZ dks foLrkjiwoZd le>kb;s\    

Explain micro Irrigation. 

iz’u Øekad 16 %& i'kqvksa esa gksus okys [kqjidk&eqagidk jksx ds y{k.k fyf[k;s\ ¼dksbZ vkB½ 

            ½x8¾4   

Write the symptoms of foot and mouth disease of Animals. (any Eight) 

vFkok 

chekj i'kqvksa ds y{k.k fyf[k;s\ ¼dksbZ vkB½    

Write the symptoms of sick Animals. (any Eight) 

iz’u Øekad 17 %& fc;klh D;k gS\ le>kb;s\       4  

What is Biasi? Describe it. 

vFkok 

[kjirokj D;k gS\ [kjirokj ls Qlyksa ij gksus okys izHkko dks fyf[k,A   

What is weed? Write the effect of weed on crops. 

iz’u Øekad 18 %& fVdkÅ [ksrh D;k gS\ foLr`r o.kZu dhft,\   2$3¾5  

What is sustainable agriculture? Briefly describe. 

vFkok 

/kku dh Qly dh fofHkUu òf) voLFkkvksa ds uke ,oa mudk o.kZu 

dhft,\   

Describe different growth stages of rice crop. 

iz’u Øekad 19 %& vPNs cht ds y{k.k fyf[k;s\       1x5¾5  

Name and describe the various stages of the paddy crop? 

vFkok 

cht vadqj.k dh vkn’kZ ifjfLFkfr;ksa dk o.kZu dhft,\ ¼dksbZ ikap½  



Write the Ideal conditions for seed germination.  

iz’u Øekad 20 %& IPM dh ifjHkk"kk fyf[k, ,oa IPM ds fl)karksa dks fyf[k;s\  5  

Write the principles of IPM by writing the definition of IPM. 

vFkok 

dhVuk’kd ls gksus okys nq"izHkko ds ckjs esa fyf[k;s\  

Write the side effects caused by the pesticide. 

iz’u Øekad 21 %& i'kq igpku ds fofHkUu fof/k;ksa ds ckjs esa foLrkj ls fyf[k;sA  3$2¾5  

Write in detail about various methods of animal identification. 

vFkok 

ewxhZikyu dh fiatjk iz.kkyh ds ckjs esa foLrkjiwoZd o.kZu dhft;s\ 

Describe in detail the cage system of poultry. 

iz’u Øekad 22 %& i'kq vkokl x`g es vkus okyh fofHkUu leL;kvksa ds ckjs esa foLr`r o.kZu 

 dhft;s\  ¼dksbZ ikap½        5  

Describe in detail the various problems encountered at the animal house. 

vFkok 

i'kqvksa esa gksus okys fdUgh ikap jksxksa dk o.kZu mnkgj.k lfgr dhft,\ 

Describe any five disease with example occurring in animals. 

iz’u Øekad 23 %& fVIif.k;k¡ fyf[k;s &        1x5¾5 

1- js’ksnkj tM+ 2- jsfMdy  3- fVylZ 4- dSfj;ksfIll  5- ysEek  

Write comments – 

1. Fibrous Root 2. Radical 3. Tillers 4. Caryopsis            5. Lemma 

vFkok 

/kku dh jksikbZ fof/k dk o.kZu dhft;s\ 

Describe the transplanting method of paddy. 

iz’u Øekad 24 %& mi;ksfxrk ds vk/kkj ij i'kq/ku uLyksa dk oxhZdj.k dhft;s\ ¼dksbZ N%½ 

 1x6¾6  

Classify live stock breeds based on utility. (any Six) 

vFkok 

Hkkjrh; vFkZO;oLFkk esa eqxhZikyu ds egRo dks fyf[k,\ 

Write the importance of poultry farming in the India economy. 

iz’u Øekad 25 %& Vid flapkbZ fof/k dk lfp= o.kZu dhft;s\   4$2¾6  

Describe drip irrigation system with the suitable diagramme. 

vFkok 

dk;ZLFky ds [krjksa ds ckjs esa fy[kdj mlls cpus ds mik; crkb;s\ 

Write about the hazards of the workplace and suggest way to avoid it. 


